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1. Solve the equation.

5. The platform of the free house is an
l-shape. What is the platform’s
perimeferé Area?

O 48 O 15 O 560 2!

3. Robert made three frips up the ladder io the tree ” 5’
house. Tristan made six trips up the ladder. Mark D 5

and Kyle each made five trips. Chris made only two
Irips. What was the average number of frips made?

4. Joy is securing the netting to
the side of the tree house.
IF the railing is six feet long,
and she is putting a tie every
four inches, how many white
ties will she need to finish
her pattern?

TUESDAY week o

, = LTIy
1. Express the decimal as a percent. (- -' M
AL %
.04 i S
. Rtk payy $6840 fgfthe gluns far a nee hoyse. 5. Choose the best way to solve
ef frignd Frgh paid dnly B péreent/ gf that the problem.

8. Theyroof protecisthe tree house. The gyidebbk ' flags for their tree house. They

recammends dn 18" o Srmand ": e frec hU e need 48 feet OfWOOd dowehngfor

the supports. The hobby store sells
the special wooden dowels at $2.00
per four-foot dowel. How much will
the boys have to spend on wood?

atform isja 5 x ¢ rettangle \whhbt sjze
rectangle will be formedd by thg bojto

the koofte

Y. The guidebook also recommends a pitch of 45 |
degrees. Which diagram shows a roof that ) a. Multiply 48 by $2.00.

would fit this specification? b. Divide 48 by 4 and multiply

AL O

c. Multiply $2.00 by 4 and divide
that number into 48
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1. Write the unit rate as a ratio. Then find

an equal ratio. ' ' :
9 5. Write the correct relchonshlp for

each pair: congruent, similar, or
neither congruent or similar.

a. The cost is $6.75 for one item.
Find the cost of eight items.

b. There are three feet in one yard.

Find the number of feet in 15 yards. . Fgers I et e

c. There are 9 rungs on the ladder. b. Figure c and Figure d

Find the number of steps on

c. Figure c and Figure e
seven ladders.

d. Figure a and Figure d

2. 4.5 x 9.3 =
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4. Write the next three ferms in the number pattern.

4 12 36 108

B —
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3 _ 1 _
1- 4 6 — Lot T

S. Trina created a snack spinner for her

tree house. She spins to see what
snack to eat.

2. Solve the equation. X = 3.7 = 5.7

3. Which of the following operations
would you use to isolate the variable in

a. It she spins once, which snack
is most likely?

b. Which snack is least likely?

c. How many possible outcomes
are there?

a. Add 6 to both sides.
b. Subtract é from both sides.
c. Add 27 to both sides.

d. Subtract 27 from both sides.

4. Write and solve an equation to find the
number of plans the tree house gang sold.

The tree house gang is selling plans to
earn money for a new rope ladder.

They get $.35 profit for each plan they sell.
The club’s total profit is $14.70




